Brp'ge sSJdspuy .. 3V 131SY

4[] q— PE/EIBFCE mia

e L

T#002] T e —




Bmprsuspuy ,, SV 1318V |siof Jo0)J g 3WeJ) punoJn

0SiT apons 06/61'8XG'G sumoug

.._H.ﬁ.AVQ.Dm AV\._H 3604 apo]

74D gt
3 hifh i A T
/rt N = = = = =
©) =t il = =
LdD 949 549
> a1 -n - M - - - - - l cm - - m [}
o i = = s ls s (s IF s = IHes s s & B
@ = T = =
L4D 949 SED)
b JH i - n m
— = = = = =
w
74D €49

818




DMPO U004 T SUBPUY ,,

SV 1318V

Om; ayoos

Dmv\mv.ﬁ.wxm.m Bumoug

11002

._H 3604

Ueld4 ~ JOO]J punoJn

ik

€9lK8el

€91¥8ZL

I

rr e

£GLX8Cl

Iilniviialshiy by bbby by iy by by by by
T Y

002X0L

CES

€0¢X68

AMM iy by
B )

8888

I RRRRRRRRRRRRR
IaNER L RS LN LR

x|

002x0L

§ A
i Bofaaanaaaanaaaa:

Ix|
Ix|
rr|

ko ekl ol ki3 3 ]

e T T T T T Ty T g T T T T T T T

€Ll

88X89

€Ll

R r R r R R Err L rr

€'lL

TRRRRRRRRRRRR]

T

085

L7

6€9

©




Bmprsuapuy .

SV 1318V

ueld ‘PJeOQ JOO)) ISJi-

0S:T ayoss 06/61'8XG'S sumoug
.._H.ﬁ.A_VQ.Dm m”\._u 3604 apo]

B B e B N A
|
_
|
|
I
_ c'c
_ 1 JLbV
| =
_ S'arY S'SLL
| |
| |
_ e

ue)d pueoq Auodjed 057 | |5

UL |
_ 08l L7 LLL
_ 6€9
S - B
©) ®

055




Terrace board plan

CES

Scale 1:50

Fose 1/3|20.04.11,

171

|
180

ERRRRRRRRRRRRRRRRRRERER
ol

88x88

17C

€0gxe8

128x153

Code

e Anders.dwg

fravine 5 5%8.19/90

ASTEL AS

L4

IRRRRRRRRERRRRRH]

i e e e b | | 11 Ly L1 L 1y by iy ey By, L By

40,5
L45,5

.

410,5

-

L1405

- 1. 819 1 |

639

171

AERARARA
PrE T

OQ.OND
O7TXZUD

Piriri ik etk d kol Sk d ot it ol ik ik
R r R R L r L r e rr

T A
T e T e

Eropononootornoooon
Eoohpetofoeoenoinanoonay

T

ko kol ol ki3 3 k]

R r o R R R R R R rrs I £
Ix|

128%153

ARRARARRARR R A AR AR
I

et
o

=

Ground floor boards. Plan




@gbmgmbcqg:

SV 1318V

Om; ayoos

Dmv\mv.ﬁ.wxm.m Bumoug

11002

m \._H 3604

apo]

uejdd spJeoq bunis)

K1Y/

19¢

08l

598l

71E

LLC

08l

1Y/




Omp'sdapuy ., NIREN
Om; 3)ods ¢ l_l_<\) Bumougq
..::VO.DM m abog 3po)
085S
! €08l ! €08l ! €08l !
sh6 6 6 6 Gl
1 €'LLL Mzael €9 Tz'4gll €LLL 1
] 10 am L_n vV lem
600 | [ 1 H H M
600 | [ H H H M
600 | [ 1 H H M
600 g H H gill
600 | [ 1 H H M
600 | [ 1 H H M
600 g H H gill
600 | [ 1 H H M
S0 11 H H 990 H M
S0 11 H H 90 H M
SY70 g H O S0 H gill
S0 11 H H (SN ] H M
S0 11 H H 90 H M
S0 11 H 970
> 600 [TH
o// \ H
N
A\
N
SN N
[EN WY
s2d[ % —G8X9
M3JOS
0S9EX0IW S PNIS
[
N [
“\ /./m
5
o
sod { —G8X9 §od { —G8X9
A MaUIDG MaI2g
6’50l 6’501




Bmprsuspuy .,, SV 1318V
Om; 3)ods m l_l_¢\) Bumougq
..::V0.0M mw abog 3po)
085
¢ @ @ 9
Q) 6 6l 6 ﬁwm L'8€ 6 7'z 'l 6
1T 7'gg 1 cg 111 1 g T 111 €€l 111
150 =N : : ]
0l0 [T+ H H H1]
890 [ H H 840 H H
80 [1H H 840 H H Tl
890 [ H H 840 H H]
s80 [1TH 880 [_H 180 H ] €60 [_H1]
s80 [1TH 880 [_H 180 H €60 [ H1]
N 580 [1TH 880 [_H ~oL80 H €60 [ H
5 s80 [1H 880 |_H 180 H | €60 | H1]
580 [1TH 5880 | H 180 H = €60 [_H1]
s80 [1TH <880 [ H 180 H < €60 [ HIT]
580 [1TH 880 [_H 180 H €60 [ H 1]
s80 [1TH 880 [_H 180 H €60 [ H1]
580 [1TH 880 [ H 180 H €60 [ H 1|
s80 [1TH 050 [ H H €60 [T HT]
600 [[H H H H
0
a
>
sod[ ¢

L_n g NeM
s2d ¢ —GBX9
YIS

0S9EX0LW S[PN4S

6'S0L




L_m J NEM

S$2d § —G8x9
M3U0S

Bmprsduapuy ,, SV 1418V
Om; 31008 Q l_l_{\,\/ Bumougq
.._H._H.AVQ.DN AV aboyg apo)
085
ﬂ_Nw €08l ﬂwu €08l @ €08l ﬁU
S 6 6 [l
11 75§ 11
it
060 H-J\I_ M N 060 ﬂWH
660 [f - 660 L
V4 N
OL9X0LW EPNIS OL9X0LIW €PNIS
OL9XOLW £'PN4S
N
a
~
K £10 _|H H H Hl_
| (Y H H 070} H
0 §
sod ¢ I%%\_MM . Uloy} € Jo ymd o)
~
o
<5 G
% S
8 W
=
(<)
~
sod § —G8X9 - §9d { —G8X9
MBS M3aU0g

N0




Bmpsuspuy ,, SV 1318V

Om; 31008 Q l_l_{\,\/ Bumougq
.._H._H.AVQ.QM m aboyg apo)
089
! €'08l ! €'08l _ €08l d
Sl 6 Sl 6 6 6 [l
o T ogge T €Ll ! €'lLl h
— 480 [ €60 [ uN A a nem
€80 H 7£0 H - | |
€80 [TH 60 [ H H HT]
e80 [[H 20 [ H H HT]
€80 [[H 20 [ H H HT]
€90 [TH 20 [H H HT]
ee0 [TH 20 [ H H HT]
€80 [[H 20 [ H H HT]
€80 [[H 260 [ H H HT]
€90 [TH 20 [H H HT]
Nt €80 [TH 20 [ H H HT]
o €80 [[H 250 [ H H HT]
20 [[H 250 [ H H HT]
a0 [H 20 [ H o T
€80 [[H 20 [ H H HT]
e80 [TH 20 [ H H H
H H €0 o i
860 [
s0 [1]
//mm. i
¥ —GBX9 .///A, uJayj e jo ynyoJ sod ¥ —GgXx9
M3 IO STEEEXOLIN 7P1AS N\ STEEGTOR 7P1TS MOIOS

$5d 1 —G8%9
Mal0g

$9d ¥ —GBx9
Malog




Bmp'suapuy

SV 1318V

a4
O m ' .ﬁ 31008 m l_ l_ { \,) Bumougq
.._H._H.AVQ.DN AW aboyg apo)
8'19L
ﬂwU €08l ﬂwu €08l @ €08l ﬁU
6 6 6 6
6'soL ! €L 1 S 1 €L T e'sol
1 F L_m 3 Nem
— —Vv — — —
| w i |
i i 1007] e|q Jo] Usjjeg i i
o (R | | i |
®|® i i i i
i i || owgs eunes oz Bugims dog wwireq |
] — NNo/ ) H H i) H i 7
N\ H
N\ UJogj e Jo jm ol
\
§0d ¥ —GBX9 SYXGY 00]} 4S.I} PJROG J00]S 0} UD}Eg S3d § —g8Xx9
MaJoS MBI

Slele i 4
M3.40g

—G8%X9

Z $5d ¥ —GBX9
MaU0g

71X88 OALS peoq bunyis)
yje1 30wy
vy

0LXSY
Q6LX!
E7XGY asnoy By Puyaq pue Aucy1eq JaA0 L4e) ajowa. 3

06XG% bujJanolJapun Jood Joj Jeis bujx)y
61X pdeoq jooy




Bmp'suspuy ., SV 1318V
Om; 31008 ||_ l_l_{\,\/ Bumougq
.._H._H.AVQ.DN N aboyg apo)
8'19L
1 . 1 ' 1 0 1
€08l £ 08l €08l
6 6
6'soL ! Z€§ T g'sol
L_n 4 NeMm
o (R I I
| | |
| NS | 20 p
ujogj e ja jnyoj
sod ¥ —GBx9 sod ¥ —Ggxg
M3105 M310g
N .
AN
AN \\
sad ¥ —GB8X9 N\ g sa2d ¢ —GBX9

MoU0g

Mauog




Bmpsuspuy ,, SV 1318V

O m ' .ﬁ 31008 _U l_ l_ { \,) Bumougq

.._H._H.AVQ.DN @ aboyg apo)

! €08l ! €08l _ €08l !
1 s i1
L50 1 = — g jem

960 || H
960 || M
960 || H H
960 || H H
960 || M
960 || H H
960 || H H
960 || M
960 || M
960 || H H
960 || H H
960 || M

960 | [ H H T
960 [TH | - — o m m:

Qo - - -
0 N M u 04701+ M 4

960 || H H

8t

(0§

A
uJo e jojlndo
554 5 68%9 HE S04l S50 % —Gaxg
M3JIOSOEEEXOLI 7 N M3ID
S 6S S0l S

sad § —G8X%9 sa2d ¥ —GBX9
M3U0S VRIS




Bmprsuapuy s

SV 1318V

Om; 3100

_I_ l_ l_ { \,) Bumougq

TT'7002| 6 ebog

apo)

8t

@ ©

m €08l ! €08l

1 ; 1
£ o8l S 6 AL

I LS

— L_m H 1EM

N0

[}
N

UJoyje jo yny oy

<

90§ —Gex9
GEEEXOLW 7'PN4S MBI0S

s5d ¥ —G8%9 N

Mal1dg X/

s5d 3 —gex9
Mauog




Bmp'suspuy ., SV 1318V
Om; 31008 H l_l_{\,\/ Bumougq
.._H._H.AVQ.DN D._H aboyg apo)
8'19L
1 [ 1 1 1 0 1
6 €08l €08l €08l 6
'sol 1 ZES T g'sol
T —F L_m I NEM
- ] ]
2|5 ! :
~ | L L
| 1 1 0%0
uJoyj e jo jn1oJ
$9d ¥ —Gex9 $9d ¥ —G8%9
MU0 MU0

s9d  —G8x9
M310G

N\ 2= S2d { —G8X9

N4 MaUog




Bmprsduapuy ,, SV 1418V
Om; 31008 ﬂ) l_l_{\,\/ Bumougq
.._H._H.AVQ.DN .:H aboyg apo)
a €08l A €08l _ €08l _
_. 819L T
L_m r Nem
R
T |
I Q ! [ g M
N H ik / H b
A\ m~ \o\
uloyj e Jo jndl o] \\,
§5d ¥ —Ggx9 7 s5d ¥ —g8Xx9
Malog Malog

$9d  —Ggx9
M3U0S

S50 § —GBX9
VRIS




Bmprsduapuy ,, SV 1418V
Om; 31008 v_ l_l_{\,\/ Bumougq
.._H._H.AVQ.DN m._u aboyg apo)
_ €08l A €08l _ €081 i
8'19L T
L_m A TEM
N | R
W oo
| NES [ i o7l 7 g 7
NS0 6l
AN \\
UJogye jo ym o) ’
§0d ¥ —GB8X9 /4 S9d ¥ —G8X9
M312S M3I2S
4
<5 S
3 (e
,mw, A / g (x/
// Q .. .-
) N 7
// 7
A\ 4
sad { —GB8X9 A = sod § —GBX9
MaU2g N/ MaUIS




Bmp'suspuy ., SV 1318V
Om; 31008 l_ l_l_{\,\/ Bumougq
.._H._H.AVQ.DN m”._u aboyg apo)
085
1 g 1 ; ; ]
sl 6 €08l €08l €08l 6 ki
11 765 11
= L_m 1 11EM
R[5
~
/ H f
/
/4 g
<5 S
3 4 (e
/MW/ N \ /\x/
A //
sad 4 —GgX9 hd sod § —GBX9
M8IOS N\ MU0

4




Bmp'sdapuy ), SV 1318V
Om; 31008 —>_ l_l_{\,\/ Bumougq
.._H._H.AVQ.DN AV._H aboyg apo)
085
ﬂww €08l ﬂwu €08l @ €08l ﬁw
o .6 6, [l
11 756 11
= = L_n W 11eM
N (R
~ |
/ § : T /
4
4
RN /G
V,MW/ AN / /,\x/Cv
// 4
S32d § —G8XQ h e S2d ¥ —GBX9
M3J0S \\N74 VRIS




Omp'suspuy ,,

Om; 3100

TT'7002 | Gl e6vog

179¢
81¢

sod  —GBX9
MaIdS

SV 1318V
Z l_l_{\,\/ Bumoug
apo)
8'19L
o fw T o cow
AL 43S T esol
— - L_m N 1em
§ o.sn i
:Lor_.— e +c +3u o._.
sod 4 —G8X9
ENEIS

sad § —G8X9

MoU0S //;; MaU0S

== % sod { —G8%X9




100

919

50

621

230

271

34

L

025

060

025

059

btud.2 M10x450

3

1

1

018

1
I

O
C

054
030

AT

056

J 004

081

081Mm

081

081

106

157

106

157

106 ~

060

060

133

336

Stud.1 M10x530

034
096
034a

15
0,
o

Code

Page H@

20.01.11,

Draving (\ D_l_l H

Scale TMO

ASTEL AS

Fle

Anders.dwg




100

919

50
I 258,7 i
T = - L] o0z —
L 1 {035 H 1 os1
H le 060 o | 029 Btud.2 M10x450
Hl H l+{035 IH 041
H 0 T —th 0 L7 1H &
C_H 1057 H H = [ J o006
H 080 H H 042 H {079
H 080 'H H 042 H | 079
H 080 H H 042m H | 079 ©“
| H 080 H H 0L H | 079 M
H 080 H H 042 H ] 079 m
I H omow H H 2| 106 H | 079
H 080 H M m M| 020
al 080N i | H | 020
H 080 H H H 1 020 Stud.1 M10x530
H 080 H H M| 020
H 080 'H M M1 020
i 080 H H H 007
H Loso | ™| T - H To2 096
L 1 {035 - 027
L
1| 67 94 11 1 (] 84 ;93 I 84 1M 11
15 9 10 9 9 9 9 15
S0, 90 , 9% , % , 9 , 9 , 9 , 90 24 66 , 66 24 40,
WO © © ©® ©® ® 0O 6 O® OO
849

Code

20.04.11.

Draving (\ D_l_l m

Scale TMO

ASTEL AS

Fle

Anders.dwg




100

919

50 230
1 2355 360,5 I 312
N0 0HO I I ] ] 0 gHo o oo of
71— 095 11— 095
H | 09 [H | 0%
H ] o9 H ] o9
H | o9 H o9
[H | oos [H | ot
[H | o9& [H | o9
M o 415,7 o
H ] 094 109
H ] 09 H ] o9
] WNM L YT shaag Mioxe10
mim Y% 094 Stud.3 M10x610
[ H ] o9 7H oo
HH— -1 ] L L L [ Arr [HHAH
U H [+{056 H LT J 005
[ H 075 H 086 C - T 076
H 075 H 086 [ H Jos%
H 075 H 086 H ] o9
H 075 H 086 H ] o9
H 075 H 086 H_| o9&
H 075 H 086 [H | o9
H 07> H 086 H 094
H ofsY H 086 H ] oo
H 075 I 086 H ] 094
H 075 H 086 TH 1 a9
H 075 H 086 TH 1 a9
H 075 H 086 TH 1 a9
H 015 |, [[H H ] o9t O
1 =1 Y| I I CHoiee0 T H
[ 86 | 15 1y 60 366 L1 156 Ll
15 9 10 9 15 9 (5 9
(0, 9%  , 9 , 9 , 90 90 , 90 , 90 24 66 | 66 24 40,
o © ©® ® © ® O 6 ® GO
669

Btud.2 M10x450

053
049

488

Code

Page Hm

20.04.11.

Draving (\ D_l_l “w

Scale TMO

ASTEL AS

Fle

Anders.dwg




100

Wall & u_q

919

50 230
] 3605 ]
a 421 a
0 0fo I 0 I 0 I 0o an o0 0d
1= 095 T 095 —
TH ] 09 TH | 0%
H ] o9k H | oo
H ] o9 LTI 094
H ] o9s H 0ok
[ H | o9 241 H | o9a
CH o5 L M| 09
H ] o9k H ] oo
[ H | 09 [ H 094317 5
H o094 i AL
H ] o9 H ] oo
nimi T Shubi Mi0x610
nimi 14 g9, Stud.3 M10x610 5tud.2 M10x450
H ] 094 NuM 094
HHEA 1 L] 1 L] L] L] & L] [HFH %3 °
C_H 1+056 = LT J 005 =
H 075 H T 01 C = J 076
H 075 TH 101 [ H T oo
H 075 TH 101 TH | o9
H 075 TH 101 TH | o9
H 075 TH] 101 H | oo
H 075 H 101 TH | oo
- 07> H | 101 H ] oo
| H 075" H | 101 H ] o9
H 075 H 101 H | o9
H 075 H 101 TH 1 o9
H 075 H 101 TH 1 o9
H 075 TH 101 TH | oo
L 075 |, [l 101 H ] o4
ul A Hdee I 1 0 0 1 Empy
1L 86 | 15 1| 41 L L 156 L
15 9 109 15 15 9 115 9
S0, 9 % , 9% , 9 , 9 , 90 90 24, 66 |, 66 24, L0,
WO ® © ©® © ® O 0 ® GO
669

Code

Fees 19 [20.04.11,

Draving (\ D_l_l Av

Scale TMO

ASTEL AS

Fle

Anders.dwg




N Drawing Pe. P(rr:nii)il Lt(al:rgjn’;h
001 1%0_&‘:' 810 810 810 . 810 . 810 810 . 81|0 b 2 90x160 6845
002 2h 110 . 10 - 20 o 1| 90x160 | 6690
003 %):' 1710 - 2610 - 1710 150 1 90x160 6690
004 Crw L H LLLE H 2l ! 1| 90x160 | 6645
005 P 170 H L ! 2 | 90x160 | 6645
006 cr LU H 20 H L b 1| 90x160 | 6645
007 1ﬁ)]0:I 1710 H 2610 H 1710 150 1 90x160 6640
008 | 660 - 810 810 - 810 - 810 - 810 - 660I | 2 90x80 5910
009 = 18 H L H L W 14 | 90x160 | 5800
010 150 1713 1713 1713 |:1[|5:(|) 1 90x160 5800
011 B LA ’ = y = B 2 | 90x80 | 5800
012 i e . e . ms = 1| 90x160 | 5800
013 o B . s . m vl 3 | 90x160 | 5800
014 = >320 = 1| 90x160 | 5800
015 . 2320 ol 1| 90x80 | 5800
016 | 127 Ui L 1| 90x160 | 5348
017 1?&1}&&2(‘)_. 570 570 "]i?:l 810 . 810 . 810 1 90x160 5045
018 100 310 810 810 810 . 810 . 810 1 90x160 5045
019 | Ef UL . Ll 1| 90x160 | 5028
020 o L H L M 6 | 90x160 | 4840
021 2 3 H 3 ! 3| 90x160 | 4711
022 " i . i b L| 90x160 | 4710
023 T LLLE H L b 2 | 90x160 | 4710
024 2 178 H 18 b 3 | 90x160 | 4710
025 o 10 H 260 b 7| 90x160 | 4695

Kood Mater jal File Anders.dwg Leht  1/10




N Drawing Pe. P(rr:nii)il Lt(al:rgjn’;h
026 E('):I 810 - 810 H 810 - 810 - 810 1 90x160 4695
027 R e H 20 1| 90x160 | 4695
028 E('):I 810 - 810 - 810 . 810 - 810 1 90x160 4695
029 o e H o 1| 90x160 | 4695
030 B Sn en 1| 90x160 | 4145
031 100 310 810 . 810 H 810 . 810 b 1 90x160 L1LS
032 o — H — Wl 15| 90x160 | 3997
033 B LA . L 20 1] 90x80 | 3997
034 i o H e ! 2 | 90x160 | 3795
035 S e H o ) 3 | 90x160 | 3795
036 S e 00 L | 90x160 | 3130
037 T 18 b 2 | 90x160 | 2907
038 T 18 b 1| 90x160 | 2907
039 T L " 2 | 90x160 | 2907
040 Y 18 b 7| 90x160 | 2907
041 ok B b 2 | 90x160 | 2895
042 o 10 e 6 | 90x160 | 2830
043 i = PR 2 | 90x160 | 2788
(A S e o 1] 90x160 | 2640
045 o = Hl 12 | 90x160 | 2585
046 [ ! 2 | 90x160 | 2468
047 2 — = 2 | 90x160 | 2430
048 - _— W 1| 90x160 | 2430
049 100 310 150 570 570 150 2 90x160 2345
050 B i 2 1| 90x160 | 2297
Kood Mater jal File Anders.dwg Leht 2710




:
051 &l U | 2 | 90x160 | 2204
052 2h - o] 1| 90x160 | 2190
053 L L L 2 | 90x80 | 2150
054 i o0 b0 30 2 | 90x80 | 2150
055 | 2 | 90x160 | 2148
056 e e b 3| 90x160 | 2145
057 300 e 1| 90x160 | 2145
058 7 LLL 2 | 90x160 | 2044
059 e 2 | 90x160 | 1995
060 £ s b 6 | 90x160 | 1995
061 31 0 2 | 90x160 | 1889
062 2 L 2 | 90x160 | 1884
063 | 2 | 90x160 | 1828
064 22 1247 2 | 90x160 | 1729
065 Eul Ll 2 | 90x160 | 1724
066 B 2 | 90x160 | 1569
067 ELp— 2 | 90x160 | 156L
068 ——— 2 | 90x160 | 1508
069 e 2 | 90x160 | 1409
070 —— 2 | 90x160 | 1404
071 [ — 6 | 90x160 | 1325
072 L 2 | 90x160 | 1249
073 o 2 | 90x160 | 124k
074 —— 2 | 90x160 | 1188
075 | 26 | 90x160 | 1100
Kood Mater jal File Anders.dwg Leht 3710




N
076 O 2 | 90x160 | 1090
077 iam ey 2 | 90x160 | 1089
078 S 2 | 90x160 | 1084
079 ) 6 | 90x160 | 1080
080 e 13| 90x160 | 910
081 e 6 | 90x160 | 875
082 — 2 | 90x160 | 868
083 o 15| 90x160 | 840
084 ===k 1] 90x80 | 840
085 =5 10 | 90x160 | 832
086 e 13| 90x160 | 790
087 e 9 | 90x160 | 688
088 L= 9 | 90x160 | 668
089 o 2 | 90x160 | 548
090 C 2 | 90x160 | 540
091 B 10 | 90x160 | 450
092 858 10| 90x160 | 450
093 i 10 | 90x160 | 412
094 e 82 | 90x160 | 390
095 i 4| 90x80 | 390
096 28 45| 90x160 | 390
097 R 2 | 90x80 | 390
098 e 3| 90x160 | 390
099 5= 2 | 90x160 | 390
100 s L | 90x80 | 350
Kood Mater jal File Anders.dwg Leht  4/10




N Drawing P Profiil |Length
(mm) (mm|
101 B 13| 90x160 | 340
102 = 2 | 90x160 228
103 —_— 2 90x20 750
104 —_— 2 90x30 750
105 1 90x30 940
Ground frame
GF& . . 2 | 140x70 | 4450
Ground frame
GF6 0 ) 2 | 140x70 | 4410
Ground frame
GF3 0 ) 2 | 140x70 | 3550
Ground frame
GF7 . ) 2 | 140x70 | 1705
Ground frame
GF5 0 ) 2 | 140x70 | 1705
Ground frame
GF1 0 ) 2 90x70 | 5490
Ground frame
GF2 . . 2 90x70 5210
RAFTER-1
R-11 28 | 45x190 | 5500
Collar beams
Cb1 18 | L5x140 | 2498
FLOOR JOIST
FJ3 | 6 | 45x190 | 5320
FLOOR JOIST
FJ2 6 | 45x190 | 1713
FLOOR JOIST
FJ1 | l 12 | 45x190 | 1713
FLOOR JOIST
Flé | | 3 | L45x140 | 5320
FLOOR JOIST
FJ5 , , 1| &5x140 | 1713
FLOOR JOIST
Flt . . 2 | L5x1L0 | 1713
Board for insulation
1 1 2L 19x120 855
Board for insulation
2 — IA 19x120 720
Batten for black floor
2 6 28x28 4410
Batten for black floor
1 6 28x28 1705
Batten for floor board first floor
1 5 | 45x45 1713
Kood Mater jal File Anders.dwg Leht 5710




N Drawing Pe Profiill |Length
(mm) (mm)
Baffen for ceiling
1 _ L | L5xL5 1713
Remote lath-1
61 12 | 45x45 | 5500
Fixing slaf for roof undercovering
61 16 | 90x45 | 5500
Supporfing post
2 u = 2 | 120x120 | 2060
Supporting post
1 [ — 2 120x120 1660
Tender for door and window
Tender for door and window
T3 ——— 8 19x90 1520
Tender for door and window
T2 —— 8 19x90 880
Tender for door and window
T6 10 | 19x25 2000
Tender for door and window
T.4 8 19x25 1520
Tender for door and window
T 8 19x25 880
Balustrade 1 | 90x1100 | 5320
5320
& N
Balustrade R_L 2 | 90x720 | 2150
7150
Support for rafter 2 | 90x720 | 350
+3850,
Kood Materjal File  Anders.dwg Leht 6710




N Drawing P Profiil |Length
(mm) (mm)
Balus’rrade161‘5§)r stairs 1 90x900 | 1653
N
Balustrade for stairs 11 90x900 900
— 00
9 | NM&x28
Inside floor ground floor 7 12 | 88x28 L1455
LT | NMLx28
Inside floor ground floor S 61| 88x28 4405
. - 9 | 114x28
Inside floor ground floor S 12 | 88x28 1755
. _ 36 | 114x28
Inside floor ground floor I 47| 88x28 1705
16 | 114x28
Inside floor first flor S 4500
21| 88x28
32 | 1M4x28
Inside floor first flor 8 L 455
L2 | 88x28
. . 32 | 1M4x28
Inside floor first flor &M 1755
L2 | 88x28
Terrace board L3 | 14x28 | 1800
Terrace board L | 14x28 1710
Balcony board 47| MLx28 | 1800
Black floor V27277277 68 | 90x19 1653
Black floor 7722 136 90x19 1623
Remote lath 10 | 45x70 3623
Remote lath 5 4L5x70 | 3488
Remote lath 5 45x70 | 3488
L9 | 14x19
Roof board T 4980
64 | 88x19
v L9 | NM&x19
Roof board S 4210
64 | 88x19
v L9 | NM&x19
Roof board T 6L | 88x19 3605
Kood Materjal File  Anders.dwg Leht  7/10




Drawing Profiil |Length

Pe (mm) (mm]
v L9 | 114x19
Roof board R 3175
6L | 88x19
v 49 | 14x19
Roof board T 2410
64 | 88x19
Ceiling board 8.8x1.2 STVO By n 88x12 3440
Ceiling board 8.8x1.2 STVO O 11| 88x12 2770
Ceiling board 8.8x1.2 STVO 778 11| 88x12 | 2540
Ceiling board 8.8x1.2 STVO U7 142 88x12 2515
Ceiling board 8.8x1.2 STVO O 1| 88x12 1865
Ceiling board 8.8x1.2 STVO O 1| 88x12 1800
CEILING for sauna By L0 | 88x12 1705
Baseboard 19x35 | 19x35  [127.94
Roof decor 1.9x12 V777277772 2 19x120 | 2355
Roof decor 1.9x12 %% 2 19x120 3120
Roof decor 1.9x12 27777777 2 19x120 | 3605
Roof decor 1.9x12 V227772 2 19x120 4157
Roof decor 1.9x12 27777777 2 19x120 | 4923
Roof decor 1.9x12 V772277772 8 19x120 | 5747

Fixing corner 90x90x65 80
Fixing plate 100x150 28
SUPPORT M20 A
M10x 3650 L ps.
M10x 3330 4 ps.
SRR M10x 610 8 ps.
M10x 530 2 psS.
M10x 450 L pS.
M12 22 ps.
© M12 x22 ps.
g@ M12 8 ps.

Mater jal File Anders.dwg Leht 8710




1194

Stairs

7 s
Sl
S 1 pc.
— =]
800
Kood Materjal File  Anders.dwg Leht 9710




EXternal aoors External aoors
(for balcone. Open in inside)
890x2030
/ \ /
890%x2030 890%x2030 1pc/1-R
7 1pcs/ 1-R \ 1pcs/ 1-L 7
\ / \
/
\ / N
Inside doors Inside doors
A 700x2000 / 700x2000
o 1pc/ 1-L Z O 1pe R
_/ \_
/ \
Windows
Y\
1280x1530 ¥ 880x1530
\)
3 pcs/ 3-R A 1pc/ 1-L
3 pcs/ -3L
= 880x880 P
/v 580x880
7 N 1pc/ 1-R
Border board 25 25
Q:: 19 __W T__
Al
= . - E — : |
| m
Tender for doors & Tenon in fop
windows of wall beam 25x20

Window, door

Kood

Mater jal File Anders.dwg Leht 10710




ixing slat for roof

Roof boarding 19

Fixing slat for roof

undercovering 90x45

Wind protection

Mineral wool 250
apor_barrier

Celling boarding 12

Remote lath

undercovering 90x45

Board for insulation 19x120,
L= 810 between rafters

Rafter 45x190

AN

In an instalation
rafters to remove a

thorn
Y 3
///
Y 4
g:g‘gﬁ 4 pos // Floor boards 28x...
S,
,‘(// v E) o> ) 2]
. .
V4
V4 ’
X
A\
\\\\
N Wall_beams 90x160
Settlement slot
mineral wool
Wall beams 90x160
2
8
\ Eaves boards 19x120 o
I}
o
5
m
Window __— |
Border board 19x120 W
Wall beams 90x160 _—+— |
M
—
[@N]
Ground frame 70x140 y
/
Hydroinsulation /
Flaor joist 45x190 [
Batten for "Black floor” 28x2|
Floor boarding 28
Mineral wool 200
Wind protect. paper
Black floor™ board 19
Foundation post
cose Pass 21 | 20.04.11

Scale 1:50

Drawing Design

ASTEL AS

e Anders.dwg




8180

958 881 878

878

878

878

989 877 962

GF4

7 — - - —|| |l= ||| Il
el -/ -/ -/ al -/ -
x (NI T [T ] e [T L
GF5 GF6 GF7
M - W || || - ||
N N
L ul]
ol m Y W
o OH N N N N N m mM M m M m N LN Nal =) =)
= = = =] ) - - ) - ) ) — -~ ) )
I 2O [l w w ol e o w w w w w w il e w w w
I~ SE ;
| H H H
2= = = S|[[= =S|I
© oW w w || [ w(l e
®

GF1

GF3

Detta &r ett forslag for hur man kan placera plintarna (100- 200 mm i diamater) fér golvbjalklaget. Golvbjélkarna ar med i
byggsatsen, men inte plintarna. Anvinder man exempelvis 500-600mm langa murblock s kan man halvera antalet punkter. Ligg
fuktskyddande papp mellan betong och tra

Tém on ehdotus siitd, miten (100-200 mm lapimittaiset) jalat voidaan sijoittaa alapohjaa varten. Lattiapalkit ovat
rakennussarjassa, mutta jalkoja ei ole. Kun kiytetaan esimerkiksi 500-600 mm pitkia harkkoja, voidaan pisteiden méré puolittaa.
Aseta betonin ja puun valiin kosteudelta suojaava pahvi

A proposal for placing plinths (100-200 mm in diameter) for floor beams. Floor beams are provided in the kit but plinths are not
included. For example, by using 500-600 mm long masonry units, one can reduce the number of points 50%. Place cardboard
between the concrete and wood to protect from moisture

GF&4

Code

Page ”_.\m

03.04.20

fraving 5 5%8.19/90

Scale ”_.“mD

ASTEL AS

'* Anders.dwg




